

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form **990-PF**

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

► Do not enter Social Security numbers on this form as it may be made public.

OMB No 1545-0052

Department of the Treasury Internal Revenue Service

Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

For	For calendar year 2013 or tax year beginning , and ending						
		f foundation	A Employer identification	n number			
		ELLEN LEVY FOUNDATION					
		DTD 12/23/96	31-1498912	2			
		and street (or P O box number if mail is not delivered to street	B Telephone number				
9	<u>30</u>	0 DIX AVENUE			(313)843-7	200	
		own, state or province, country, and ZIP or foreign p	ostal code		C If exemption application is p	ending, check here	
_D	EA	RBORN, MI 48120			ŀ		
G	heck	call that apply: Initial return	Initial return of a fo	ormer public charity	D 1. Foreign organization	s, check here	
		Final return	Amended return] , _		
		Address change	Name change		Foreign organizations mi check here and attach co	eeting the 85% test, omputation	
H C	_	type of organization: X Section 501(c)(3) ex			E If private foundation sta	tus was terminated	
\perp			Other taxable private founda	ation	under section 507(b)(1)(A), check here	
		· 1 —	ng method: X Cash	Accrual	F If the foundation is in a	60-month termination	
			her (specify)		under section 507(b)(1		
		1,036,939. (Part I, colu	mn (d) must be on cash i	basis)			
Pa	rt l	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a))	(a) Revenue and	(b) Net investment	(c) Adjusted net	(d) Disbursements for charitable purposes	
		·	expenses per books	income	ıncome	(cash basis only)	
	1	Contributions, gifts, grants, etc., received			N/A	1	
	2	Check I if the foundation is not required to attach Sch. B					
	3	Interest on savings and temporary cash investments	00 455			!	
Revenue	4	Dividends and interest from securities	28,156.	28,156.		STATEMENT 1	
		Gross rents					
	_	Net rental income or (loss)	0 5 6				
	6a	Net gain or (loss) from sale of assets not on line 10 Gross sales price for all	-3,572.			<u> </u>	
	b	assets on line 6a	,				
	_	Capital gain net income (from Part IV, line 2)	, , , , , , , , , , , , , , , , , , ,	0.		. 4, 1	
	8	Net short-term capital gain	, =	•			
	9	Income modifications Gross sales less returns					
	10a	and allowances .	· · · · · · · · · · · · · · · · · · ·	<u> </u>			
		Less Cost of goods sold	· · · · · · · · · · · · · · · · · · ·	• •			
		Gross profit or (loss)	1 0 1 1				
	11	Other income	1,044.	0.		STATEMENT 2	
	12	Total. Add lines 1 through 11	25,628.	28,156.		}	
	13	Compensation of officers, directors, trustees, etc	0.	0.	·	0.	
	14	Other employee salaries and wages			· · · · · · · · · · · · · · · · · · ·		
န		Pension-plans, employee benefits					
euses		Legal fees RECEIVED	2 700	1 250		1 250	
Expe	D	Accounting fees STMT 3	2,700. 4,269.	1,350. 4,269.		1,350.	
e E			4,209.	4,209.		0.	
aţį	17 18	Taxes STMT (6)	65.	65.			
Operating and Administrative	19	Depreciation and depletion Al 15	03.	05.		0.	
풀	20	Occupancy			 		
튉	21	Travel, conferences, and meetings			······································		
ᅙ	22	Printing and publications					
ã	23	Other expenses STMT 6	15.	0.		0.	
Ę	24	Total operating and administrative		<u></u>		0.	
e a	27	expenses. Add lines 13 through 23	7,049.	5,684.		1 250	
이	25	Contributions, gifts, grants paid	80,000.			1,350. 80,000.	
	26	Total expenses and disbursements.	00,000.			00,000.	
		Add lines 24 and 25	87,049.	5,684.		81,350.	
-	27	Subtract line 26 from line 12:	0,,010	3,004.		01,350.	
		Excess of revenue over expenses and disbursements	-61,421.	and the same of the	(
.		Net investment income (if negative, enter -0-)	02,201	22,472.			
		Adjusted net income (if negative, enter -0-)		22,2124	N/A	· · · · · · · · · · · · · · · · · · ·	
32350 10-10	1	LHA For Paperwork Reduction Act Notice, see i	nstructions.			Form 990-PF (2013)	

-21

Part II Balance Sheets Attached schedules and amounts in the description		II Balance Sheets Attached schedules and amounts in the description	Beginning of year	End o	of year		
뜨	art	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value		
	1	Cash - non-interest-bearing	6,472.	4,812.	4,812.		
	2	Savings and temporary cash investments	196,805.	91,762.	91,762.		
	3	Accounts receivable ►					
		Less; allowance for doubtful accounts ▶					
	4	Pledges receivable ►					
	l	Less; allowance for doubtful accounts					
	5	Grants receivable					
	6	Receivables due from officers, directors, trustees, and other	-				
	1	disqualified persons					
	7	Other notes and loans receivable	-				
	`	Less; allowance for doubtful accounts					
(A)	l a	Inventories for sale or use					
Assets	1	Prepaid expenses and deferred charges					
Ass		Investments - U.S. and state government obligations					
		Investments - corporate stock STMT 7	228,075.	517,734.	706 724		
			480,359.	235,982.	706,724.		
	١	.	400,333.	435,964.	233,641.		
	l''	Investments - land, buildings, and equipment basis					
	1.	Less accumulated depreciation					
	ľ	Investments - mortgage loans					
	13	Investments - other					
	14	Land, buildings, and equipment: basis					
	l	Less accumulated depreciation					
		Other assets (describe		· · · · · · · · · · · · · · · · · · ·			
	16	Total assets (to be completed by all filers - see the					
	Ц.	instructions. Also, see page 1, item 1)	911,711.	850,290.	1,036,939.		
	17	Accounts payable and accrued expenses					
	18	Grants payable					
es	19	Deferred revenue			- 1		
Liabilities	20	Loans from officers, directors, trustees, and other disqualified persons			*		
iab	21	Mortgages and other notes payable			y-		
_	22	Other liabilities (describe 🕨)					
					•		
	23	Total liabilities (add lines 17 through 22)	0.	0.	and a second		
		Foundations that follow SFAS 117, check here					
		and complete lines 24 through 26 and lines 30 and 31.					
Ces	24	Unrestricted	ļ		Sept September		
Net Assets or Fund Balances	25	Temporarily restricted			* **		
Ba	26	Permanently restricted					
P		Foundations that do not follow SFAS 117, check here					
昰		and complete lines 27 through 31.			The state of the s		
Ď	27	Capital stock, trust principal, or current funds	0.	0.			
šets	28	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.			
Ass	29	Retained earnings, accumulated income, endowment, or other funds	911,711.	850,290.			
ĕ	30	Total net assets or fund balances	911,711.	850,290.	,		
Z	••			- 030,2301			
	31	Total liabilities and net assets/fund balances	911,711.	850,290.	• ,		
Ξ	_			030,2301			
P	art	Analysis of Changes in Net Assets or Fund Ba	alances				
1	Total	net assets or fund balances at beginning of year - Part II, column (a), line 3	30				
	(mus	t agree with end-of-year figure reported on prior year's return)		_ 1	911,711.		
2	Enter	amount from Part I, line 27a		2	-61,421.		
3	Other	increases not included in line 2 (itemize)		3	0.		
4	Add i	ines 1, 2, and 3		4	850,290.		
5	Decre	eases not included in line 2 (itemize)	•	5	0.		
6	<u>To</u> tal	net assets or fund balances at end of year (line 4 minus line 5) - Part II, col	lumn (b), line 30	6	850,290.		
_			<u> </u>		Form 990-PE (2012)		

form 990-PF (2013) U/A	DTD 12/23/96						3	1-149	8912	Page 3
Part IV Capital Gains and Losses for Tax on Investment Income (a) List and describe the kind(s) of property sold (e.g., real estate, 2 story back warshayer; or common stock 200 chs. MLCCo.) (b) How acquired P - Purchase (c)						(c) Date :	acquired	(d) Date	hlns	
2-story brick warehouse; or common stock, 200 shs. MLC Co.)				D	- Purci - Dona	nase Ition		ay, yr.)	(mo., da	
1a LITIGATION						P				
b PUBLICLY TRADE	D SECURITES			-		P				
d									 -	
e										
(e) Gross sales price	(f) Depreciation allowed (or allowable)		st or other basis expense of sale					ain or (loss) s (f) minus (
a 20.				\Box						20.
b 392,981.			396,57	3.					-3,	592.
d										
e				\dashv				<u> </u>		
	g gain in column (h) and owned by t	the foundation	on 12/31/69			(1)	Gains (C	ol. (h) gain	minus	
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		cess of col. (I) col. (J), if any			col.	(k), but r	not less than (from col. (I	1-0-) or	
a										20.
<u>b</u>				_					<u>-3,</u>	592.
<u>C</u>		·			-					
d e										
	∫ If gain, also enter	ın Part I. line	7	7						
2 Capital gain net income or (net ca				.][2				-3,	572.
3 Net short-term capital gain or (los if gain, also enter in Part I, line 8,		d (6):		٦						· -
If (loss), enter -0- in Part I, line 8		Balana		Д	3			N/A		
Part V Qualification U						ient inc	ome	 		
(For optional use by domestic private	Touridations subject to the section 4	1940(a) tax on	i net investment in	come	-)					
If section 4940(d)(2) applies, leave th	us part blank.									
Was the foundation liable for the sect If "Yes," the foundation does not qual			•	iod?	•		•		Yes	X No
1 Enter the appropriate amount in e				ntries						
(a) Base period years Calendar year (or tax year beginnir			Net value of no	(c) nchar	ıtable-ı	use assets		Distrib (col. (b) divi		
2012		2,056.				6,887				
2011		2,825. 4,151.				8,970				5241
2010 2009		$\frac{4}{7},838$.				3,102 7,092				36132 38094
2008		$\frac{7,0531}{0,057}$	-	1		7,799				4590
2 Total of line 1, column (d)		•					2		44	13703
3 Average distribution ratio for the 5		on line 2 by 5,	or by the number	of yea	ars				0.0	0741
the foundation has been in exister	nce if less than 5 years						3		.08	8741
4 Enter the net value of noncharitab	le-use assets for 2013 from Part X, I	line 5	-	•			4		1,007,	870.
5 Multiply line 4 by line 3							5		89,	439.
6 Enter 1% of net investment incom	e (1% of Part I, line 27b)	•					6			225.
7 Add lines 5 and 6							7		89,	664
8 Enter qualifying distributions from							8		81,	350.
If line 8 is equal to or greater than See the Part VI instructions.	line 7, check the box in Part VI, line	1b, and comp	lete that part using	g a 1%	6 tax r	ate.				

7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col. (c), and Part XV

9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)

year 2013 or the taxable year beginning in 2013 (see instructions for Part XIV)? If "Yes," complete Part XIV

10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses

8a Enter the states to which the foundation reports or with which it is registered (see instructions)

of each state as required by General Instruction G? If "No," attach explanation

Form **990-PF** (2013)

MΙ

remain in the governing instrument?

	art VII-A Statements Regarding Activities (continued)	712		Page 5
_	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of			т
•••	section 512(b)(13)? If "Yes," attach schedule (see instructions)	١., ١		x
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges?	11		<u> </u>
"-	If "Yes," attach statement (see instructions)	ا ۱۰		
12	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	12	X	<u> </u>
13		13		L
1.1	Website address ► N/A The books are in care of ► THE ELLEN LEVY FOUNDATION Telephone no. ► (313)8	112	770	
14			120	<u> </u>
45		120		
13	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 - Check here		, ,,▶	•
46	and enter the amount of tax-exempt interest received or accrued during the year		/ <u>A</u>	
10	At any time during calendar year 2013, did the foundation have an interest in or a signature or other authority over a bank,	1	Yes	
	securities, or other financial account in a foreign country?	16		<u> </u>
	See the instructions for exceptions and filing requirements for Form TD F 90-22.1. If "Yes," enter the name of the foreign	1		;
Б.	country Int VII B Statements Beneating Askinking for Which Forms (700 Mars B - B - 1)	<u> </u>		
F	art VII-B Statements Regarding Activities for Which Form 4720 May Be Required	,		
4.	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
18	During the year did the foundation (either directly or indirectly):			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?			
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from)		*	
	a disqualified person?			1
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?			1
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?			1
	(5) Transfer any income or assets to a disqualified person (or make any of either available		, ,	;
	for the benefit or use of a disqualified person)?	1 1		`
	(6) Agree to pay money or property to a government official? (Exception. Check "No"	i l		Ì
	if the foundation agreed to make a grant to or to employ the official for a period after			
	termination of government service, if terminating within 90 days.)		41	
b	If any answer is "Yes" to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations			1
	section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here			, 1
C	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected	-	,	
	before the first day of the tax year beginning in 2013?	1c		X
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation		ŧ.	
	defined in section 4942(j)(3) or 4942(j)(5)):	:	Ç.,	
а	At the end of tax year 2013, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning	1, 1	ণ কি চ	
	before 2013? Yes X No	ťť,		4
	If "Yes," list the years	* .	[[]	1
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect		`*	,
	valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach	<u> </u>	`	
	statement - see instructions.)	2b		
C	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here.	, ,,	*	r . i
		i 'I	, ,	2.3
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time	· •		
	during the year?	· ´.	<u>د</u> مُرْ م	
b	If "Yes," did it have excess business holdings in 2013 as a result of (1) any purchase by the foundation or disqualified persons after		£ 3,	-
	May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose		. "	
	of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,	<u> </u>		
	Form 4720, to determine if the foundation had excess business holdings in 2013.)	3b		
	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		X
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that	. 1	٠,	, •
	had not been removed from jeopardy before the first day of the tax year beginning in 2013?	4b		X
	For	m 990	-DF	(2013)

Form 990-PF (2013) U/A DTD 12/23/96			31-14989	12 Page 6
Part VII-B Statements Regarding Activities for Which I	Form 4720 May Be I	Required (contin	ued)	
5a During the year did the foundation pay or incur any amount to:				
(1) Carry on propaganda, or otherwise attempt to influence legislation (section	n 4945(e))?	Y	es X No	
(2) Influence the outcome of any specific public election (see section 4955); o	r to carry on, directly or indire			
any voter registration drive?	, ,		es X No	
(3) Provide a grant to an individual for travel, study, or other similar purposes	?		es X No	l i
(4) Provide a grant to an organization other than a charitable, etc., organization	-		63 [22] 110	
509(a)(1), (2), or (3), or section 4940(d)(2)?	ii described iii seettori		es X No	- '
			es Les Ino	•
(5) Provide for any purpose other than religious, charitable, scientific, literary,	or educational purposes, or i		□	وای بات
the prevention of cruelty to children or animals?			es X No	4 2 3
b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify und	•	n Regulations		
section 53.4945 or in a current notice regarding disaster assistance (see instru	,	•	N/A L	5b
Organizations relying on a current notice regarding disaster assistance check h				
c If the answer is "Yes" to question 5a(4), does the foundation claim exemption fr				
expenditure responsibility for the grant?	. N	Γ/A	es L No	7 L V
If "Yes," attach the statement required by Regulations section 53.4945	5-5(d).		l.	
6a Did the foundation, during the year, receive any funds, directly or indirectly, to	pay premiums on		\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	学位置图验
a personal benefit contract?			es 🗓 No 🏻	
b Did the foundation, during the year, pay premiums, directly or indirectly, on a p	ersonal benefit contract?	•		6b X
If "Yes" to 6b, file Form 8870.			6.5	Car Single Pilia
7a At any time during the tax year, was the foundation a party to a prohibited tax s	helter transaction?	□ v	es 🗓 No 🖟	
b If "Yes," did the foundation receive any proceeds or have any net income attribu		··	—	7b
Part VIII Information About Officers, Directors, Trusto		nagere Highl		,,,
Paid Employees, and Contractors	ces, i oundation wa	mayers, riigin	y	
1 List all officers, directors, trustees, foundation managers and their	compensation.			
		(c) Compensation	(d) Contributions to	(e) Expense
(a) Name and address	(b) Title, and average hours per week devoted	(if not paid,	employee benefit plans and deterred	(e) Expense account, other
ELLEN LEVY	to position PRESIDENT	enter -0-)	compensation	allowances
9300 DIX AVENUE	LVESIDENI			
	0.05	ا م	ا م	•
DEARBORN, MI 48120	0.25	0.	0.	0.
	SECRETARY/TRE	ASURER		
9300 DIX AVENUE		_	_	
DEARBORN, MI 48120	0.25	0.	0.	0.
	DIRECTOR			
9300 DIX AVENUE				
DEARBORN, MI 48120	0.25	0.	0.	0.
2 Compensation of five highest-paid employees (other than those inc	luded on line 1). If none,	enter "NONE."		
(a) Name and address of each employee paid more than \$50,000	(b) Title, and average hours per week	(c) Compensation	(d) Contributions to employee benefit plans and deferred	(e) Expense account, other
(a) Maine and address of each employee paid more than \$50,000	devoted to position	(c) Compensation	and deferred compensation	account, other allowances
NONE			compensation	
			•	
				
	· · · · · · · · · · · · · · · · · · ·	·		
				
	·			
	· · · · · · · · · · · · · · · · · · ·			
Total number of other employees paid over \$50,000			<u>.</u>	0
			Form	990-PF (2013)

Part VIII Information About Officers, Directors, Trustees, Founda Paid Employees, and Contractors (continued)	tion Managers, Highly	130312 Tago /
3 Five highest-paid independent contractors for professional services. If none, enter	"NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
	-	
	1	
		
	-	Í
Total number of others receiving over \$50,000 for professional services	· · · · · · · · · · · · · · · · · · ·	. ▶ 0
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statist number of organizations and other beneficiaries served, conferences convened, research papers prod	luced, etc.	Expenses
1 N/A		
2		
3		
		
4		
Part IX-B Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on	lines 1 and 2.	Amount
1 N/A		
		
2		
		_
All other program-related investments. See instructions.		
3		
Total. Add lines 1 through 3	. •	0.
		Form 990-PF (2013)

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations	ndations	, see instructions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes;		
а		1a	950,506.
b		1b	72,712.
c		1c	
ď		1d	1,023,218.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	1,023,218.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	15,348.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,007,870.
6	Minimum investment return. Enter 5% of line 5	6	50,394.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations are foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	50,394.
2a	Tax on investment income for 2013 from Part VI, line 5		
b	Income tax for 2013. (This does not include the tax from Part VI.)		
C	Add lines 2a and 2b	2c	449.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	49,945.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	49,945.
6	Deduction from distributable amount (see instructions)	6	0.
7_	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	49,945.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	t	
a		1a	81,350.
b	•	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
	Suitability test (prior IRS approval required)	3a	
	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	81,350.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment	1	
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	81,350.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of	ualifies fo	r the section
	4940(e) reduction of tax in those years.		

Form **990-PF** (2013)

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2012	(c) 2012	(d) 2013
1 Distributable amount for 2013 from Part XI,	· · · · · · · · · · · · · · · · · · ·	· · ·		
line 7				49,945.
2 Undistributed income, if any, as of the end of 2013				
a Enter amount for 2012 only			0.	
b Total for prior years:		!		
3 Excess distributions carryover, if any, to 2013:		0.		
a From 2008 47,653.				
bFrom 2009 40,307.				1
cFrom 2010 40,844.				
dFrom 2011 40,100.				
eFrom 2012 42,300.				;
f Total of lines 3a through e	211,204.			
4 Qualifying distributions for 2013 from	211,201			
Part XII, line 4: ►\$81,350.				
a Applied to 2012, but not more than line 2a			0.	
b Applied to undistributed income of prior	<u> </u>			
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus			*· ····	
(Election required - see instructions)	0.			
d Applied to 2013 distributable amount				49,945.
e Remaining amount distributed out of corpus	31,405.			
5 Excess distributions carryover applied to 2013 (If an amount appears in column (d), the same amount	0.			0.
must be shown in column (a)) 6 Enter the net total of each column as				
indicated below: a Corpus Add lines 3f, 4c, and 4e Subtract line 5	242,609.			
b Prior years' undistributed income. Subtract	242,009.		·	
line 4b from line 2b	:	0.	•	
c Enter the amount of prior years			<u> </u>	7
undistributed income for which a notice of	,			:
deficiency has been issued, or on which the section 4942(a) tax has been previously			•	•
assessed	£	0.	i,	
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.	, A	, 2
e Undistributed income for 2012. Subtract line	· · · · · · · · · · · · · · · · · · ·			
4a from line 2a. Taxable amount - see instr.	1		0.	
f Undistributed income for 2013. Subtract	,	,	- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
lines 4d and 5 from line 1. This amount must	•	,	4 1,6	
be distributed in 2014		•		0.
7 Amounts treated as distributions out of corpus to satisfy requirements imposed by			, *	
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2008				<u> </u>
not applied on line 5 or line 7	47,653.			
9 Excess distributions carryover to 2014.				*
Subtract lines 7 and 8 from line 6a	194,956.			
O Analysis of line 9:	. ,	Same and the same of the same	3 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
a Excess from 2009 40,307.	, , , , , , , , , , , , , , , , , , ,	7 7 7		
b Excess from 2010 40,844.	•		in the state of	
c Excess from 2011 40,100.	,			,
d Excess from 2012 42,300.				£ .
e Excess from 2013 31,405.			* {\frac{1}{2}}	Form 990, DE (2012)

Part XIV Private Operating F	oundations (see in	structions and Part VI	I-A, question 9)	N/A					
1 a If the foundation has received a ruling of	determination letter that	t it is a private operating							
foundation, and the ruling is effective for 2013, enter the date of the ruling									
b Check box to indicate whether the found	ation is a private operati	ng foundation described	in section	4942(j)(3) or 49	142(1)(5)				
2 a Enter the lesser of the adjusted net	Tax year	Ĭ	Prior 3 years						
income from Part I or the minimum	(a) 2013	(b) 2012	(c) 2011	(d) 2010	(e) Total				
investment return from Part X for			 	<u> </u>	``				
	I								
each year listed		<u> </u>	}						
b 85% of line 2a	 			 					
c Qualifying distributions from Part XII,									
line 4 for each year listed	ļ								
d Amounts included in line 2c not	Ĺ	1							
used directly for active conduct of									
exempt activities									
e Qualifying distributions made directly					_				
for active conduct of exempt activities.									
Subtract line 2d from line 2c		}							
3 Complete 3a, b, or c for the			<u> </u>						
alternative test relied upon:		ŀ							
a "Assets" alternative test - enter: (1) Value of all assets		1							
• •			 						
(2) Value of assets qualifying				1					
under section 4942(j)(3)(B)(i) b "Endowment" alternative test - enter			· 						
2/3 of minimum investment return									
shown in Part X, line 6 for each year									
listed									
c "Support" alternative test - enter:									
(1) Total support other than gross				1					
investment income (interest,									
dividends, rents, payments on securities loans (section									
512(a)(5)), or royalties)				i '					
(2) Support from general public									
and 5 or more exempt		"							
organizations as provided in									
section 4942(j)(3)(B)(III)			 						
(3) Largest amount of support from									
an exempt organization									
(4) Gross investment income	mation (Canal)	As Abis mant subs	if the foundation	h ad 65 000 an m					
Part XV Supplementary Info			if the foundation	nad \$5,000 or mo	ore in assets				
at any time during t		ructions.)		<u></u>					
1 Information Regarding Foundatio									
a List any managers of the foundation who			tributions received by the	foundation before the clos	se of any tax				
year (but only if they have contributed in	iore than \$5,000). (See s	section 507(d)(2).)							
ELLEN LEVY									
b List any managers of the foundation whi			(or an equally large portion	n of the ownership of a pa	artnership or				
other entity) of which the foundation has	a 10% or greater intere	st							
NONE									
2 Information Regarding Contributi	on, Grant, Gift, Loan	. Scholarship, etc., P	rograms:						
Check here ► X if the foundation o				of accept unsolicited requ	ests for funds. If				
the foundation makes gifts, grants, etc.									
a The name, address, and telephone num	ner or e-mail address of	the person to whom anni	ications should be addres	sed.					
a The name, address, and telephone name	or or or man address or	and person to whom appr	0000013 3110010 00 000103	sou.					
				···					
b The form in which applications should b	e submitted and informa	tion and materials they s	nould include:						
		<u> </u>							
c Any submission deadlines:									
									
d Any restrictions or limitations on awards	i, such as by geographic	al areas, charitable fields,	kinds of institutions, or c	other factors:					

Part XV Supplementary Information (continued) Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient Purpose of grant or contribution Foundation show any relationship to status of Amount any foundation manager or substantial contributor Name and address (home or business) recipient a Paid during the year ALPHA WORKSHOPS PROVIDE TRAINING 245 WEST 29TH STREET FLOOR 12A PROGRAMS NEW YORK, NY 10001 15,000. FILM FORUM PRESERVATION OF ART 35TH AVENUE & 36TH STREET ASTORIA, NY 11106 10,000. NATURE CONSERVANCY PROTECT NATURE 2021 21ST AVENUE SOUTH, STE C-400 NASHVILLE, TN 37212 20,000. PLANNED PARENTHOOD OF MIDDLE PROVIDE AFFORDABLE AND TENNESSEE ACCESSIBLE FAMILY 50 VANTAGE WAY, SUITE 102 PLANNING SERVICES NASHVILLE, TN 37228 10,000. TENNESSEE JUSTICE CENTER ₽C LEGAL SERVICES FOR 301 CHARLOTTE AVE. INDIGENT NASHVILLE, TN 37201 25,000. **▶** 3a 80,000. Total **b** Approved for future payment NONE Total **▶** 3b 0.

Part XVI-A Analysis of Income-Producing Activities

Enter gross amounts unless otherwise indicated.	Unrelated	business income		1 by section 512, 513, or 514	(e)	
	(a)	(b)	(C) Exclu-	(d)	Related or exempt	
1 Program service revenue:	Business code	Amount	code	Amount	function income	
a					 	
b						
c	-	······································				
d	- 					
e	-					
f		· · · · · · · · · · · · · · · · · · ·				
g Fees and contracts from government agencies	-					
2 Membership dues and assessments						
3 Interest on savings and temporary cash						
investments						
4 Dividends and interest from securities			14	28,156.		
5 Net rental income or (loss) from real estate:						
a Debt-financed property						
b Not debt-financed property						
6 Net rental income or (loss) from personal property						
7 Other investment income						
8 Gain or (loss) from sales of assets other than inventory			18	-3,572.		
9 Net income or (loss) from special events			+			
10 Gross profit or (loss) from sales of inventory	- - - - - - - -					
11 Other revenue:						
a MISCELLANEOUS INCOME			01	1,044.		
b						
d	-					
e						
12 Subtotal. Add columns (b), (d), and (e)		C		25,628.	0.	
13 Total. Add line 12, columns (b), (d), and (e)				13	25,628.	
(See worksheet in line 13 instructions to verify calculations.)	• •				

Part XVI-B Relationship of Activities to the Accomplishment of Exempt Purposes

Line No.	Explain below how each activity for which income is reported in column (e) of Part XVI-A contributed importantly to the accomp the foundation's exempt purposes (other than by providing funds for such purposes).	lishment of
		
		
		
		
323621 10-10-13		Form 990-PF (2013)

*Form 990	0-PF (2013)	DTD 12/23,	/96			31-1	498912	Pa	ge 13
Part 2	XVII Information R	egarding Trar	nsfers To	and Transactions	and Relations	hips With Nonc	charitable		
	Exempt Orgai	nizations							
1 Did	the organization directly or ind	lirectly engage in any	of the following	ng with any other organizati	on described in secti	on 501(c) of		Yes	No
the	Code (other than section 501(c	c)(3) organizations)	or in section 5	27, relating to political orga	nizations?				
a Tra	a Transfers from the reporting foundation to a noncharitable exempt organization of:								
(1)	Cash						1a(1)		X
	Other assets	•				•	1a(2)		X
	ier transactions:	•			•	•		<u>.</u>	
	Sales of assets to a noncharit	able exempt organiza	ation				1b(1)		Χ̈́
	Purchases of assets from a no			•		-	1b(2)		X
٠,	Rental of facilities, equipment	•	or garnzacion				1b(3)		X
	Reimbursement arrangement			•			1b(4)		X
	· · · · · · · · · · · · · · · · · · ·	·	•	•	•		1b(5)		X
	Loans or loan guarantees	Jambarahin ar fundra	uaina aaliaitatii		-	•	<u> </u>		X
	Performance of services or m					•	1b(6)		X
	aring of facilities, equipment, m						1c		
	he answer to any of the above is			· ·		-		eis,	
	services given by the reporting				ue in any transaction	or snaring arrangeme	ent, snow in		
	umn (d) the value of the goods,								
(a)Line n	o (b) Amount involved	(c) Name o		e exempt organization	(0) Description	of transfers, transactions,	, and sharing arr	angeme	.nts
			N/A						
		 							
		ļ							
				· · · · · · · · · · · · · · · · · · ·					
		1							
				···········					
		 							
		 		·					
2a ls t	he foundation directly or indirec	ctly affiliated with or	related to one	or more tay-evernet organ	uzations described				
	section 501(c) of the Code (othe	-		•	izations acscribed		Yes	Y	No
	Yes," complete the following sch		J(3)) 01 111 300		•		163		7 140
<u> </u>	(a) Name of or			(b) Type of organization	T	(c) Description of relati	ionshin		
	N/A	gamzanon		(b) Type of organization	 	O Description of read	ionamp	_	
					 				
				 	 				
									
									
	Library and the of parking Lateriary	that I have everyned th	/	na accompanyung cebadulan end	d statements and to the	hoot of my knowledge			
O:	Under penalties of perjury, I declare and belief, it is true, correct, and co						May the IRS of return with the	Scuss	his
Sign	1/1/1	\longrightarrow M		10/10/11	A		s <u>hown</u> below	(see ins	()?
Here	7 // WV	XW//		13/12/19	PRESID	ENT	X Yes	Ĺ	J No∣
	Signature of officer or truste			Daté /	Title	<u> </u>			
	Print/Type preparer's n	ame 🖊	Preparer's s		Date		TIN		
		. (Form.	m. Hurmany	MAY 0 8	self-employed			
Paid		HUISMANN `	<i>V I</i>		11		P00053		
Prepa		NTE & MOR	RAN, PI	rrc		Firm's EIN ► 38-	-13579	51	
Use Only						1			

Form **990-PF** (2013)

Phone no. 248-375-7100

Firm's address ▶ 2601 CAMBRIDGE CT., SUITE 500 AUBURN HILLS, MI 48326

FORM 990-PF	DIVIDEND	S AND INTER	REST	FROM SECU	RITIES S	TATEMENT	1
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDEND	AINS REVENUE		(B) NET INVEST- MENT INCOME		
CORPORATE BOND INTEREST MONEY MARKET STOCK DIVIDENDS	18,438 937 8,781	•	0. 0. 0.	18,438 937 8,781	. 937.		
TO PART I, LINE 4	28,156	•	0.	28,156	28,156.		
FORM 990-PF		OTHER I	NCO	ME	S	TATEMENT	2
DESCRIPTION			RE		(B) NET INVEST- MENT INCOME	(C) ADJUSTEI NET INCOI	
MISCELLANEOUS INCOM	E			1,044.	0.		
TOTAL TO FORM 990-P	F, PART I,	LINE 11		1,044.	0.		
FORM 990-PF		ACCOUNTI	NG 1	FEES	S	TATEMENT	3
DESCRIPTION		(A) EXPENSES PER BOOKS		(B) I INVEST- NT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITAI PURPOSI	
PLANTE & MORAN, PLL	c –	2,700.		1,350.		1,3	50.
TO FORM 990-PF, PG	 1, LN 16B	2,700.		1,350.		1,3!	50.

FORM 990-PF C	OTHER PROFES	SIONAL FEES	STATEMENT			
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME				
INVESTMENT MANAGEMENT FEES CUSTODY FEES	3,394. 875.				0.	
TO FORM 990-PF, PG 1, LN 16C	4,269.	4,269.			0.	
FORM 990-PF	TAXES		STATEM		5	
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM			
FOREIGN TAXES	65.	65.			0.	
TO FORM 990-PF, PG 1, LN 18	65.	65.			0.	
FORM 990-PF	OTHER E	XPENSES	STATEMENT 6			
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM			
FEE ON FOREIGN DIVIDEND RECEIVED	5. 10.	0.			0.	
CLASS ACTION HANDLING FEE		· ————				
CLASS ACTION HANDLING FEE TO FORM 990-PF, PG 1, LN 23	15.	0.			0.	
		0.		STATEMENT	0.	
TO FORM 990-PF, PG 1, LN 23	15.	0. E STOCK	OK VALUE	STATEMENT FAIR MARKET VALUE	7	
TO FORM 990-PF, PG 1, LN 23 FORM 990-PF	15.	0. E STOCK	OK VALUE 517,734.	FAIR MARKET	7 [

FORM 990-PF CORPORATE BONI	os	STATEMENT 8
DESCRIPTION	BOOK VALUE	FAIR MARKET VALUE
SEE ATTACHED STATEMENT	235,982.	233,641.
TOTAL TO FORM 990-PF, PART II, LINE 10C	235,982.	233,641.

R. H. BLUESTEIN & COMPANY

PORTFOLIO APPRAISAL Ellen Levy Foundation, UAD 12/23/96, Ellen Levy, Ttee.

December 31, 2013

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
COMMON STO	OCK						
500	Abbott Laboratories	36.45	18,225	38.33	19,165	1.9	2.3
50	Amazon.com Inc	264 67	13,234	398.79	19,940	1.9	0.0
150	American Express Co	39.53	5,930	90.73	13,610	1.3	1.0
300	American Water Works	29.16	8,747	42.26	12,678	1.2	2.7
50	Apple Inc	19.48	974	561.02	28,051	2.7	2.2
150	Boeing Co	63.55	9,532	136.49	20,474	2.0	2.1
250	Bristol-Myers Squibb	23.01	5,752	53.15	13,288	1.3	2.7
150	Caterpillar Inc	28 63	4,295	90.81	13,622	1.3	2.6
100	CBS Corp Cl B	58.59	5,859	63 74	6,374	0.6	0.8
400	Cerner Corp	46.56	18,624	55.74	22,296	2.2	0.0
100	Chubb Corp	94.54	9,454	96.63	9,663	0.9	1.8
200	Church & Dwight Co	63.09	12,618	66.28	13,256	1.3	1.7
300	ConAgra Foods Inc	34.99	10,498	33.70	10,110	1.0	3.0
150	Costco Wholesale	59.12	8,868	119.02	17,853	1.7	1.0
50	Cummins Inc	108 73	5,437	140.97	7,049	0.7	1.8
400	Delta Air Lines Inc	27 08	10,832	27.47	10,988	1.1	0.9
100	Diageo PLC ADR	76 42	7,642	132.42	13,242	1.3	2.3
100	Ebay Inc	55.09	5,509	54.87	5,487	0.5	0.0
150	Ecolab Inc	70.52	10,578	104.27	15,641	1.5	1.1
200	Edwards Lifesciences	85.82	17,165	65.76	13,152	1.3	0.0
150	Exxon Mobil Corp	89.77	13,465	101.20	15,180	1.5	2.5
300	Facebook Inc Cl A	26.59	7,976	54.65	16,395	1.6	0.0
1,000	Ford Motor Company	14.03	14,034	15.43	15,430	1.5	2.6
300	Freeport-McMoRan	33.65	10,095	37.74	11,322	1.1	3.3
300	General Electric Co	23.26	6,978	28.03	8,409	0.8	3.1
100	Gilead Sciences Inc	67.21	6,721	75.10	7,510	0.7	0.0
10	Google Inc Cl A	477.70	4,777	1,120.71	11,207	1.1	0.0
250	Hain Celestial Grp	58.27	14,569	90.78	22,695	2.2	0.0
200	Hess Corp	68.58	13,716	83.00	16,600	1.6	1.2
100	Home Depot Inc	68.62	6,862	82.34	8,234	0.8	1.9
50	IBM Corp	201.46	10,073	187.57	9,379	0.9	2.0
250	Jarden Corp	44.66	11,164	61.35	15,338	1.5	0.0
100	Lockheed Martin Corp	122.44	12,244	148.66	14,866	1.4	3.6
200	Microsoft Corp	37.71	7,542	37.41	7,482	0.7	3.0
100	Monsanto Co	61.66	6,166	116.55	11,655	1.1	15
200	Mosaic Co	43.36	8,672	47.27	9,454	0.9	2.1
250	National Oilwell Varco	73.97	18,493	79.53	19,883	1.9	1.3
150	Occidental Petroleum	90.23	13,534	95.10	14,265	1.4	2.7
100	Perrigo Co PLC	152.21	15,221	153.46	15,346	1.5	0.2
600	Pfizer Inc	29.59	17,756	30.63	18,378	1.8	3.4
250	Prudential Finl Inc	56.80	14,200	92.22	23,055	2.2	2.3
100	Sherwin Williams Co	174.00	17,400	183.50	18,350	18	1.1
200	Starbucks Corp	59.32	11,864	78.39	15,678	1 5	1.3
100	Starwood Hotels	74.57	7,457	79.45	7,945	0.8	1.7
100	Twitter Inc	42.79	4,279	63.65	6,365	0.6	0.0
100	Union Pacific Corp	137.99	13,799	168.00	16,800	1.6	1.9
100	Visa Inc Cl A	86.20	8,620	222.68	22,268	2.2	0.7

1

R.H. BLUESTEIN & COMPANY

PORTFOLIO APPRAISAL Ellen Levy Foundation, UAD 12/23/96, Ellen Levy, Ttee.

December 31, 2013

Quantity	Security	Unit Cost	Total Cost	Price	Market Value	Pct. Assets	Yield
200	Vodafone PLC ADR	32.98	6,596	39.31	7,862	0.8	4.0
200	Walt Disney Co	60.34	12,068	76.40	15,280	1.5	1.1
400	Wells Fargo & Co	29.05	11,618	45.40	18,160	1.8	2.6
			517,734		706,724	68.3	1.6
CORPORATE I	BONDS						
50,000	IBM CORP (Callable) 1.250% Due 05-12-14	101.71	50,856	100.31	50,155	4.8	0.6
25,000	FORD MOTOR CREDIT 8.700% Due 10-01-14	114.25	28,563	105.86	26,466	2.6	2.3
50,000	PROCTER & GAMBLE 3.500% Due 02-15-15	101.35	50,675	103.31	51,655	5.0	3.2
50,000	PFIZER INC 5.350% Due 03-15-15	107.60	53,800	105.67	52,833	5.1	3.9
50,000	MERCK & CO 4.000% Due 06-30-15	104 18	52,088	105.07	52,533	5.1	3.2
	Accrued Interest				2,078	0.2	
			235,982	•	235,718	22.8	2.7
CASH/MONEY	MKT						
	Ford Interest Advantage		91,762		91,762	8.9	1.1
TOTAL PORTF	OLIO		845,477		1,034,204	100.0	1.8